
The Mad Crusaide



QTY.

1x

2x 1x

1x 1x

picture

position

position 3

part name

Static Kit for CCO

Upright CX Mighty 
2500

Adj. Kit for CCO

Universal Profile F 
1700

PU Bar Monkey S 
1700

position 1 position 2

position 7 position 8

SAMPLE

Assembly elements: 

16x 40xposition 4

Bolt M12x110 Washer M12

position 5

20x

Nut M12

position 6



4x 2xposition 9

Bolt M10x120
Monkey Mount S PU 

Bar 1566

position 10

Assembly elements: 

Assembly elements and instruction may vary 
regarding the type of the product.



Assembly instruction:

5 4
1

5
6

2

5 4
1

5
6

2

6

7

5

65

4

4

8

6

7

5

65

4

4

8

STEP: 1

STEP: 2



Assembly instruction:

10
8

10

9

5

48

10 10

M12x110
M12x30

STEP: 3

STEP: 4


